Answer

Section 10.5 Homework

Page 713: 1, 2, 3,4, 5,6, 7,11, 15, 16, 17, 30, 31

1. The height of the triangle is doiibled. areq \s doﬁb\edv

2. The height of a trapezoid with base lengths 12 cm 12m I\
and 18 cm and height 5 cm is multiplied by 3. a
area 15 muthplied b&.‘g

21 m

Describe the effect of each change on the perimeter or circumference and the area
of the given figure,

3. The base and height of a triangle with base 12 in. and height 6 in. are bo
" Pren= d\omged by a factorof 3% =9

Perimerer = ChOJ\SQd by a foctoe ol 3.

4. The base and height of the rectangle are 18 ft
both multiplied by .

Prrea - Chmed b\j o +fadoe_ of (L)
Pezimerer: Changd by 0 fodoe o (%)




5. Asquare has an area of 36 m®. If the area is doubled, what happens to the
side length?
A=36mZ S A=72M> S when the area

S= 0 72 =s% ¢ was dowbled,
bfa =S the side en HL/
was mudiptud

bbt Ja.

6. Acircle has a diameter of 14 ft. If the area is tripled, what happens to the
circumference?

)4=d NI x 3 = HTTT S When the
7=r l7ot= > areas ripied
A= YH9TT rllie the radius (S
0= 47T 7%1 'Qf mulh‘pliﬁd b& @/
thus the ‘
C= 1443 2 circumference (s
3lso mulhplred
by 3.

7. Business A restaurant has a weekly ad in a local newspaper that is 2 inches wide
and 4 inches high and costs $36.75 per week. The cost of each ad is based on its area.
If the owner of the restaurant decides to double the width and height of the ad,
how much will the new ad cost? ZDD whle

Area =8 in% |
:]4 Cost= $3,75 S fleea = (D= 32 IN
2

32
2 -4

4 x 43675 =@




11. The radius of the circle with center (0, 0) that passes
through (5, 0] is multiplied by 2.

r=6 r=5><5/5:3
AWt

C=)0TT C = b7
O P

The area changed b
and the ciroumference chanﬂea’
by a fache of (3/5).

Describe the effect of each change on the area of the given figure. 2
15. The diagonals of a rhombus are both multiplied by 8. (112 Ch an d b(d 8

16. The circumference of a circle is multiplied by 2.4. area Chaneg d b‘d 2 ‘42
by 7.

17. The base of a rectangle is multiplied by 4, and the height is multipli

areq is mualHed b9 2%

® @]+ [@
|0 40

30. Which of the following describes the effect on the area of a square when the side
length is doubled?

(A> The area remains constant.
(B> The area is reduced by a factor of 1.

(€)_The area is doubled.
@ area is increased by a factor of 4.

31. If the area of a circle is increased by a factor of 4, what is the change in the
diameter of the circle?

(F) The diameter is -'2- of the original diameter.

e diameter is 2 times the original diameter.
CH) The diameter is 4 times the original diameter.
(J> The diameter is 16 times the original diameter.

0T = (4T
=14 =3
4=8  d=1b




